AR (BEH)

T = 4 L ETROKE AR LEMH29-Z2D1)
T %= 5 pfr 4ERTE AX #W
A fL B HEF Rk 29 £ 9 H 15 H (&) 11 B 00 47
2} OW & % ¥4,082,400- OBLEGIARDIEE B O H G HEBLO%E ¥302,400- )
F F i ¥ ¥4,179,600- (Biir) ¥3,870,000- (Bl
o ¥3,760,051-  (BiA) D ¥3,779,360- (BiA) D ¥3,758,922-  (BiiA)
RISHIRES o R e
¥3,481,629-  (Bith) Jij ¥3,499,408-  (Bith) Jij ¥3,480,484—  (Bitk)
T ] SERE 29 4209 B 19 H b Rk 29 & 12 A 14 H
H % 3 TKIE il 5% 7
A fL & %A ,
f/é/% Tt Parany araxy
J\A L % mo & E1E ol = W=
| (G R 5 FrR
ﬁ)i 55; @
(B)sEH 12
9 _ f § ri; ¥3,790,000
—
3 H@tt% i ¥3,870,000
HOFHKEN .
EEKEH— 3
T o
6 (7@);@%@@% ¥3,780,000 AL
[t ax ¥
7 T i‘?%ﬁ REE
g | 7T IR
(BR)BrepE 3
9 ﬁ)tt%@%% ¥3,870,000
CB)H 114tk -
Ol HoBe ik
u ™ e
o @yy{i@géggamﬁﬂ%ﬁﬁ& 3k
(B RMEER T3 .
B e AR
14
15
16
17
18
19

20




